a Complete the sentences.

l energy — communicate - time - effort — people ]

a. Machines save us and

b. A telephone is a machine that lets us

c. All machines need to work.

d. Scissors need energy from to work.

B write what type of energy these machines use.

B)

Complete the text.

[ operating — handle bar — complex — levers — people — gear ]

A bicycle is a machine because it is made up of many

parts. It has got two wheels, a

that helps steer the bicycle, and two pedals that act as

The pedals turn a that moves a chain. The chain connects the

pedals to the back wheel. The bicycle needs energy from to work.
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